
REŠITVE DZ str. 17 

12. Pozicijsko računalo: 

     S = narisal/a si 2 žogici 

     D = narisal/a si 2 žogici 

     E = narisal/a si 3 žogice 

     223       dvesto triindvajset  

___________________________________________________________ 

    S = 4 žogice 

    D = 1 žogica 

    E = 6 žogic   

     416        štiristo šestnajst 

___________________________________________________________ 

    S = 7 žogic 

    D = 2 žogici 

    E = 1 žogica 

    721         sedemsto enaindvajset 

___________________________________________________________  

   S = 5 žogic 

   D = 4 žogice 

   E = 5 žogic 

   545           petsto petinštirideset  

13. 1S 5D 6E 

      3S 8D 4E 

      6S 7D 0E 

      5S 6D 1E 

      2S 0D 9E 

      8S 1D 8E 


